[ 78 th % 5k T &8I A G1 ( 40 m3t) FRFN544E 5581 BtA
IKGL ZE BN
0
i — 244
-2
FER23%F
-3
—— k224
& -4
L s
* -5 R ANE:3
m 6 e SRR 64
S . |
-8
-9
-10
1A 2R 38 48 58 68 7A 88 9B 10A 118 128
RiEEEEIKR
-25
— k245
— TR23EF
= —— k224
ﬁ — ERk17E
ﬁ 3
& | FEAeE
mm
-45
-50
1A 2B 38 4R 5A 6B 78 88 9RA 10A 1A 12RH
KR ~G1ERM : R ~40m

- 29 -




B &k FERIFT G3 ( 150 m3t) A FN534F #5381 BALA
KL ZE B IR R
-6
— R 244
ER23E
—— 224
— PRI7E
—— FR6E
-16
1A 28 3B 48 58 6B 7A 8B 98 108 11A 128
IViEEZETHIKR
0
— 244
B 23
-] — P24
ﬁ‘—lu
2 — FRIE
#E
F15 —— TR
mm ' '
-20
-25

1R 28 3A

47

58

68

1R

88

9A

10A 118 128

- 30 -

X G2[&~G3EM :90m~150m




B &k FERIFT G2 ( 90 m3t) R FN544F 8581 BALA

IKGLZE KR
— T RR244F
TR 234E
—— 225
— ERE17EE
—— F 64
1B 2B 3B 4B 5H 6H 78 8B 98B 10H 1B 128
IRER TR
0
—_— 245
-5 23
—— R 224
7
7 S I N N N N N A N S — — O
E:ii'::ii::i—mw
=15 | - - i i i i - :
mm
-20
=25

1A 2B B3R 4R 5A 6R 7H 88 9RA 10R 118 127

KG1E~G2/E[ :27m~90m

- 31 -




& B ik T EBIFT G (27 m3t) AR FN54 4 558 BAtA
KELZEBIKR

0
i — 245

-2
R34

-3
— P25

T 4 -

L} —

2 J FRITE
_? - .
-8
-9
-10

1A 28 38 48 58 6A 7R 88 9B 108 118 128
IR EZEEIKR
-5
S D S N N S S [ PR

_ | . —\/ 1 |

W . | | N | . L — 235
= | | | | | | . | | | . —— k224
Iz — ERTE
= — TG4
= 2 .
mm

-25

-30

1A 2R 3R 4A S5A 6A 7A B8R 9R 10R

1A

124

XihFT~G1/ERM T ~27m

- 32 -




LA A8k T &R PR G3 (100 m3f) R N5 34 &5 8 BA 1A

IKEL IR

1 i mR

3
S

1A 2B 3R 48 5B 6RA 7A 8HA 9B 10A 118 12AR

— 244

FR2345F
—— 224
— FHITE

— A6

- 33 -




LA A8k T &R PR G2 (36 m3t) R EN54 4 &5 8 BA 1A

-1 5 0R

3

KL ZEBNIKR
0
-2
FR234E
-3
—— P22
-4
x5 — RIS
-6 e SRR G
-7
-8
-9
-10

1A 2R 3B 48 ©S5A 6A 7A B8R 98 10RA 118 128

- 34 -




— =&k T ERIRT G3 ( 200 m3) BB 0554 #5814
KELZEBIK R
0
g — 244
N 234
-3
—— 224
& -4
5R — PRI
T -5
— — 64 |
-7
-8
-9
-10
1B 2B 38 4B 5B 6B 7A 8B 9B 108 1B 128

- 35 -




— = kT &R RIFT G2 (100 m3f) BB FN554F &5 8 BA 1A

-1 5 0R

3

KL ZEBNIKR
0
-2
FR234E
-3
—— FER22%
-4
-5 — ERITE
-6 — R4
=T
-8
-9

1A 2R 3B 48 ©S5A 6A 7A B8R 98 10RA 118 128

- 36 -




— = kT &R RIFT G1 (40 m3t) BB FN554F &5 8 BA 1A

IKELZE KR
0
“2 & " W
FRsE
=3
— TH22%
= -4
% . — TR
m 6 e SRR 64
-7
-8
-9
-10

1A 2B 38R 4R 5RA 6R 7R B8R 9A 10A 118 128

- 37 -




K O #h % 50 T &8I B G3 (108 m3t) BB #1564 #5781 BsA
KK
-2
= — 24t
-4
5 FR2IE
-6 —— ER22%E
T 7
) — ERITE
T -8
iR —— 6 4E |
-10
-1
-12
-13
-14

1A 2R 3B 4R

5H

6H

74 88 9B 10RA 1A 12AR

- 38 -




